Precision Farming Profitability

Reference H - Quiz

True/False Section:

1. True/False:
The farmer must optimize outputs to produce maximum return on 

investment.  

2. True/False:
The cost of slurry application per acre decreases with each additional load 

because of the decreases in fuel and labor requirements.  

3. True/False:
Due to the nature of animal wastes, the amount of manure required to 

supply a crop’s nutrient needs can be 10 to 100 times the volume of 

commercial fertilizers.  

4. True/False:
The push for implementing Best Management Practices was problems 

associated with groundwater contamination from nitrate leaching.  

5. True/False:
A system that can provide documented manure application has the 

potential to improve production efficiency.  

6. True/False:
A component of precision management systems is manure analysis to 

establish nutrient content.

7. True/False:
Variable rate application of manure is a relatively easy procedure.

8. True/False:
The higher the animal concentrations, the more difficult it is to find large 

enough land area with low phosphorous levels.  

9. True/False:
Constant manuring of soils creates agronomically excessive accumulations 

of soil phosphorous.  

10. True/False:
Applying manure to meet crop nitrogen needs usually means under 

application of phosphorous.  

Multiple Choice Section:

11. Challenges to Precise Applicator:

a. The farmer must optimize inputs to be environmentally friendly.

b. Increases use of fertilizers, pesticides, and seeds, has cause researchers to ask questions about precision application of inputs.  

c. Total nutrient content is the only test available for manure.  

d. All of the above

12. Characterization of Animal Waste:

a. Nutrient content of manure can be characterized by storage method.

b. Nutrient content of manure can be characterized by size and type of animal.  

c. A and B

d. None of the above

13. Disposal and Land Application (Choose all the apply):

a. The cost of slurry application per acre increases with each additional load because of the increases in fuel and labor requirements.  

b. The cost of slurry application per acre decreases with each additional load because of the increases in fuel and labor requirements.  

c. Slurry application encourages under application.

d. Manure is sometimes applied to the land as a means of disposal.

e. Both a and d

14. Disposal and Land Application:

a. Manure is sometimes applied to the land as a means of disposal.

b. Manure is sometimes applied as a means of amending the soil for crop purposes.  

c. A and B

d. None of the above

15. Alternative uses for animal waste are:

a. Composting for horticultural markets

b. Incineration as fuel

c. Pelletizing

d. All of the above

16. Best Management Practices:

a. States are trying to require producers to use BMP’s. 

b. Most BMP’s for animal wastes are not based on providing sufficient nitrogen.

c. A and B

d. None of the above

17. Pressing Issues behind BMP’s:

a. Growth hormones

b. Eutrophication of surface waters by phosphorous runoff

c. Nitrate leaching

d. All of the above

18.  Nitrogen and Phosphorous:

a. BMP’s are based on nitrogen requirements.

b. Increase in algae blooms in rivers and lakes may make phosphorous-based regulations a priority.

c. Soils with high levels of phosphorous leads to leaching.  

d. All of the above

19. Precision Manure Management:

a. Variable rate application of manure is difficult because of the heterogeneous nature of manure.

b. Current practices are an improvement over measurement and documentation of land application rates.  

c. A system that provides documented manure application can improve production efficiency.

d. Inputs that are used in production are not redistributed into soils.  

e. Both a and c

True/False:

1. F, 2. F, 3. T, 4. T, 5. T, 6. T, 7. F, 8. T, 9. T, 10. F

Multiple Choice:

 11. D, 12. C, 13. E, 14. C, 15. D, 16. A, 17. D, 18. A, 19. E, 

